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= 3 a. Find the complex Fourier transform of the function :
E 1 for |x|<a ?sin x
5 f(x)= |,,»/*~| “  and hence evaluate J- dx. (08 Marks)
£ 0 for {x|>a X
b. Find the Fouri r cosine transform of e™, (06 Marks)
¢. Solve by using z — transforms un+2 — 4u, = 0 given that up =0 and u; = 2. (06 Marks)
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OR
4 a. Find the Fourier sine and Cosine transforms of :

X - Dicxs?
f(x)= 2
0 elsewhere

b. Find the Z — transform of : i) n” ii) ne™"

¢. Obtain the inverse Z — transform of

5 a. Obtain the lines of regressmn ; d, ‘hence find the co- efﬁcwn i
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6 a.
mean of y’s and the cozeffi
b. Fit an exponential cugg;e of the formy =a
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Module-4"

tudents who have obtained marks :

17MAT31

(08 Marks)

(06 Marks)

(06 Marks)

f correlation for the data :

(08 Marks)

(06 Marks)

&S cosx = 0 by Regula — Falsi method correct to three

(06 Marks)

6 regressmn lm“es find the mean of X’s,

08 Marks)

(06 Marks)

V'S near x = 4.5 of the equation tanx = X

(06 Marks)
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following data :
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100 | 294

900 | 1210 | 2028
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(06 Marks)

b. Using Newﬂgn s d1v1ded dlfferen e formula construct an interpolating polynomial for the

(08 Marks)

(06 Marks)




OR

8 a. Inatable given below, the values of y are consecutwe
6" term. Find the first and tenth terms of the ser1es

-

By, Newton’s formulas.
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¥(0) = y(n/2) = 0.

b.  Fit an interpolating polynomial of the fo
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Der1ve~ Euler s equation in the. standard form viz 5}77_
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ﬁnd x(5) given :

(08 Marks)

(06 Marks)

(06 Marks)

bo(3x g 8y*)dx + (4y — 6xy)dy where C is the

(08 Marks)

jd bounded by x =0, y = 0,

(08 Marks)

(06 Marks)

? _y" —2ysin x)dx under the end conditions

(06 Marks)



